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Differential Equations

     [image: image1.png]17. What is the solution to the differential equation if
2=1latt=0 and de/dt = 0at t =07
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(A) e dte

(B) e ?(cos2t+sin2t) + §

(C) et dte 4 2

(D) e 4 Jre™ 4 §




     [image: image2.png]Problems 9-12 refer to the following equation.

2y =3ay+1

9. The equation is a

(A) second-order polynomial of two variables
(B) order, homogeneous equation
(C) linear

~order differential equation.
(D) second-order differential equation




     [image: image3.png]10. How many initial conditions are required for the
equation to have a unigue solution?

(A) none
(B) one
(C) two
(D) three

11. What is the integrating factor?
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     [image: image4.png]12. What is the solution?





     [image: image5.png]Problems 20-22 refer to the following equation.

ay +30-1=0

20. What type of differential equation is this?

) homogencous
) second-order linear
) mon-lin
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21, The solution for this equation is
(A) y=In(l-32)+C
(B) y= 71 -3+C
(€) y=1h

(D) y=Inw—

B+ C
322

+C

22, In the differential equation 2y’ + 3z ~ 1 = 0, if
y = Lwhen @ = 1, what is the constant of infegration,

c?




